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3. w,m,w@mﬁmm:
(A) WIST = MHA x ATHS + TSP
(B) Wi = WG x WIHe + J9hcd
(C) WISy = 9T x HIThel + NG
(D) WIS® = W + WITHA x AEE

4. fed i« + 2y + 5= 0 T — 3z - 6y + 1 =0 5 IW &7 &t & -
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(A) 1 (B) 2 (©) 3 | (D) 4
6. ToET WO ax? + bx 4o = 0w FaferEaRC BT -

(A) b2 - 2qe (E) b2 + 4ac

(C) b2~ dqc (D) b2+ 2ac
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Instructions:
(i) First 156 minutes are allotted for exqm; 08 1€ read this question paper.
(1) All questions are compulsory.
(iit)  This question paper has two Parts A gnd B
(tv)  Part - A contains 20 multiple choice ¢yp? ‘:’“35”0”'.3 of 1 mark each that have to be
answered on the OMR Answer Sheet onl)-
() After giving answer on the OMR Answe' Sheet do not cut it and do not use eraser,
whitener, etc.
(vi)  Part - B contains descriptive tvpe question’ of 50 marks.
(vii) There are 5 questions in Part - B.
(viii) In the beginning of each question, it has been clearly mentioned that how many
parts of it are to be attempted.
(ix) Marks allotted to each question are mentioned against i,
(x!  Start from the first quesiion and go up to the last question. Do not waste your
time on the questton you canhot solve.
v If you need pluce for rough work, do tl on rhe e lef! page ufyour answer buok and
cross (x ) the page. Do not w H.{ (e solutionon thal page. -
(xit) Draw neat and correc e in solution of a question wherever tf ts necessary,
otherwise in its abse @ > solution will be treated as incomplete and wrong.
Part-A
Multiple Choice Questions:
1.  Maximum number of zeroes of a cyh;e polynomial will be : 1
(A) 4 (B} 3 ©) 2 D) 1
2. Prime factors of number 140 wil] 1, . 1
(A) 2:’(52)(7 {B] 2)(7)(5
(© 22x5xT D) 92 x 5 x 72
822 (HV) , P.T.O.
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3.  The relation between clividend, divisor; qllmtient and remainder will be :
(A) dividend = remainder x quotient divisor
(B) divisor = dividend x quotient + remainder
(C) dividend = divisor x quotient + remainder

(D) divisor = dividend + quotient X remainder

4. The solution of a pair of linear equations X +2y +5=0 and — 3x -6y + 1 =0 will

be :
(A) Unique (B) Two
(C) Infinitely many (D) None of the above

5. Common difference fm: the Arithmetic Progression (AP)— 5, - 1, 3, 7, ... will be :
(A) 1 (B) 2 (Cy 3 (D) 4

6.  The discriminant of the quadratic equation ax®+ bx + ¢ =0 will be:
(A) b2 = 2ac (B) b2 +4ac
(€) b*-dac D) b+ 2ae

T . -
7. Distance between two poirﬁg (2, 3) and (4, 1}w}rbe 2

(A) 2 (B) 242 (C) 23 D 3
Q '
8. If the roots of the quadr%@uatiﬁn 3x2-12x+m = 0 are equal, then the value
of m will be : \Q‘Zr
(A) 4 7 C 9
N (D) 12
9. A ABC is an equilateral triangle of side 2¢. The length of each of its altitudes will
be : ‘
(A) a2 (B) 2ay3
(C) av3 (D) 3a

10. Mean of the following table will be

’ Class interval 1-3|3-5

[Frequency 3 2
(A) 2 (B) 4 C) 5
‘ D 6
822 (HV) 8
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11.  The value of Ejz;o will be :
cos

1
1
(A) 1 (B) -1 (© 0 (D) 3
12. IfcosA= -Jz_ﬁ , then the value of sin 94 will be: I
(A) 1 B 0
1 B
2
18. The value of 1+ t’in_z_‘i will be : 1
: 1+cot A
(A) sec’A (B) -1 (C) cot? A (D) tan*A
14. sin24=2sin A is true when A is equal to : 1
3 o , nAc v {E0 . et
A 0 iB) 30 - ((\] 15 . \‘ D 60
i -
.18, The area of aquadrant of a circle whose circumference is 22 ¢m will be : ¥
22
A 2 em? & B m?
7 N 8
6@
\Q‘b
0 Tem? oV D = cm?
( N LT
16. Capsule is a combination of : 1
(A) Two cones
(B) One cylinder and two hemispheres
(C) One cylinder and one hemisphere
(D) One cylinder and two circleg
17. 1f the mean and mode of some dapa are 32 and 35 respectively, then its median
. 1
will be : _
(A) 30 (B) 31 ©) 32 (D) 33
P.T.O.
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18. The modal class of the following freque?Y table will pe

Class interval 0-5 | 5-10 |10~ 15115 - 20120-25

19 6

Frequency 8 T

(A)y 20-925 (B) 15-20 © 10-15 (D) 5-10

- 19.  Htwo dice are tossed together, then the prDbability of getting the sum of numbers
on both the dice as 10 is :

1

(A) —
12

1 1
(B) E (C) 1 (D)

Q0| b

20. When a die is thrown once, the probability of getting an even number will be :

1 1 1 1

(A) = — — —

) 1 (B) 3 (C) 5 (D) 6
Part-B

Descriptive Questions :

21. Do all the parts :

(@)"  The volume of a cube is 1331 em®, Pfhd :&ﬁ&(‘h side.

(b)  If one root of the quadratic equationa? 4+ 3x - p =01is 2, then find the value

of p.
T S
(¢) If cos® ===, th d the value of sin 4.
17 D
N

(d) Find the me@f the following frequency table :

Class interval 0-2 | 2-4 | 4-6

Frequency 1 2 6

(e)  Find the coordinates of the mid-point of the
(-3, 10) and (5, 4).

() If the distance between the points (~1, - 3) ang (x, 9)
the values of x.

line segment joining the points
1s 13 units, then find

22. Do any five parts ;

(@)  Find two consecutive odd positive INYegers, sum of whose squares is 290

(b)  Prove that in two concentric circles, th
ric circles, the chorg of the 1 , ich
touches the smaller circle is bisected at the point of m;agger circle, whic
822 (Hv) 10
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(c) In the ﬁmlre i
ot
LM I cR Ang .y then prove that AM _ AN
LN il s BM DN - 4

B

(d) Find the zeroes of the quadratjc polynomial x2 ¥ Tx +

. j _ 10 and verify
relationship between the Zeroes ari! the coefficients e

(e)  Find the median of the follo
Frequency 4 \ 7 ‘ 3 2
Q\ —

) A bag containg 5 red balls and some blue ball

drawing a blue ball ig double that of a red ball, the
of blue balls in the bag

wing distribution table :

s. If the probability of
n determine the number

8  Sum of the areas of two Squares ig 157 m®. If the sum of their perimeters ig
68 meters, then find the sides of both gquares-

OR 6

The velocity of a boat is 18 kmy/p, in gtjl) water: It takes one hour more to travel
24 km in downstream and 24 jo, In ypgtrea® Find the speed of the current.

8
2 (HV) 11 P.T.O.
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n top of 8 pedestal. From a point on the ground, the
the statue is 60° and from the same point, the
destal is 45°. Find the length of the pedestal. 6

24, A statue 1'6 m tall, stands o
angle of elevation of the top of

angle of elevation of the top of the pe

OR
Two poles of equal heights are standing OPPosite to each other on either side of
the road, which is 80 m wide. From @ point between them on the road, the angles

of elevation of the top of the poles are 60° and 30° respectively. Find the height of
the poles and the distance of the point from the pole.

25. A juice seller was serving his customers using glasses as shown in the given
figure. The inner diameter of the cylindrical glass was 5 ¢cm, but the bottom of the
glass had a hemispherical raised portion which reduced the capacity of the glass.

If the height of the glass was 10 cm, then find the apparent capacity of the glass

and its actual capacity. (Take 7 ='3'14) d

5¢cm

- 10 cm

=Y
=" \QQ
g\
OR %
5 - N
Rasheed got a spé g top (Lattu) as his birthday present, which surprisingly
had no colour uné’l.. He wanted to colour it with his erayons. The top is shaped like
a cone surmounted by a hemisphere. The entire top 1s 5 cm in height and the

diameter of the topis 3-5 ¢cm as shown in the figure.

Find the area Rasheed has to colour. (Take 7= ?73 )

822 (HV) L 12
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